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Conquer NEET PHYSICS
2026 WITH
CONCEPTUAL CLARITY
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Delhl

I am a Physics educator for NEET with around 30 years of teaching
experience. I teach students preparing for NEET Physics with full
dedication, helping them clear concepts thoroughly from the basic to
the advanced level, without any hurdles.

Having taught Physics for decades, I’ve observed the changes in the
NEET Physics paper (earlier known as AIPMT) over the years. The
difficulty level of the NEET Physics section fluctuates —sometimes
it's easy, sometimes quite challenging, as seen in the NEET 2025

paper.

One major concern today is the interference from parents, especially
those from corporate backgrounds. They often impose their
corporate culture on their child’s education, assuming that just
cutting down chapters into PDFs or making PowerPoint
presentations is enough for preparation. But Physics doesn’t work
like that. It's not about shortcuts—it's about building strong
fundamentals, particularly in mathematical tools, which are
essential and were clearly tested in NEET 2025.

With around 24 lakh students appearing for NEET and only about
50,000 seats in government colleges, the competition is extremely
tough. To secure a seat in top colleges like AIIMS or MAMC, a
student must be thorough in every aspect of the subject.

My sincere advice to students: practice Physics rigorously using
H.C. Verma and Irodov. These are time-tested books that build real
conceptual strength. Follow conventional methods—just like your
parents did when they prepared for competitive exams—instead of
getting distracted by random YouTube videos or so-called
"influencers" misusing Al to teach Physics in shallow ways. These
approaches often harm the student's ability to think deeply and
critically, which is crucial for success.
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Consider a water l'ml\, shown in the figure.
It has onc wall at \‘3 L and can be taken

<

to be very \\ldc(m the direction.

When filled with a liquid of surface tension S
and density p, the hquid surface makes angle

1)
6,(04 <<1) with the X a\ls ht x = L. If y(x) is

the height of the surface then the equation for

y()is :
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A mlcroscope has'an obJectlve of focal lengt
2 cm, eyepiece of foca] length 4 cm and th
tube length of 40 cm. Ifthe distance of distinc
vision of eye is 25 cm';’"ﬂg]e magnification in the
microscope is v

1) 100 va‘flzs

3) 150 4) 259.u ; —_—

e

"lc
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An clectron (mass 9x1073! kg and

charge 1.6x10~19C) moving with speed ¢/10g
(c= spccd ofh;:,ht) |§ injected into a magnetic

field b‘ ofmagmtﬂdc 9x10~4 T perpendicular
to its dlrccuon of rhotlon We wish to apply an

L

uniform elcctrlc ﬁeld [Z togcther with the
magnetic ficld sogthat [he electron does not
deflect from its path. Then (speed of light

c=3x108ms7!y

-
m E is perpendicular to B and

its magnitude is 27x104 V pr!
/\g

E is perpendlbular to B and

7 its magmtude’ls‘ 27x102 V m!
l 3

3) E is parallel’fo 5 and

its magmtude 1S 27><102 Vm!
$y o

@) E is parallelts B and
its magmtudeﬁ‘s 27%104 V m1
RYBI ;

E= vVe=ax(0%y w axi5
LoD
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There are two inclined sﬂrf;aces of equal length
(L) and same anOI%Of inclination 45° with the “/6 nB-= W,
horizontal. One of them is rough and the other 61| - Z im0
. 1s perfectly smooth A given body takes 2 times L N
as much time to shde down on rough surface L= —‘5_' C& a0) {t W > wh
than on the smoot ,surface The coefficient of
h“* £, - [=2\% g
kinetic friction (u?}) between the object and - 7\6 ©
the rough surface r§ close to ' g
(1)" 0.25 | %W(z) 0.40 : in® - ,(mams na,
- (3) 05 75
toe [ 2L

1, - 26, Zﬁ@-,ﬁg

> A ($«6- JA%{) D= 42
z/Cm lUAD) \%MQ . K{(l o = /‘é‘/é

3
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v

The kinetic energies, of two similar cars A and

‘B rarel 100 J and'225 J respectively. On

applying breaks, caréf\ stops after 1000 m and
car B stops after 1300 m. If F; and Fg are the
forces applied by ths breaks on cars A and B,
respectively, then the ratio F,/Fp is

1)

3 3 —

m 3 :“§(2/) 3
L

€ '3 4) 2

9958461445,01141032244

www.kumarphysicsclasses.com
www.kumarneetphysicsclasses.com

228 X 2
| 1O T
4e

=
£ _ 100
- s

m



The current passing through the battery in the

given circuit, is:

o
L.

-’

"4

Q

AAA___

5Q Q ‘
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e P 5.5Q
[
E b
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(1) 204 -\ 2ros4
G3) 254 f(?l) 1.54
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7 A bob of heavy mass:z is suspended by a light
string of length /. Thebob is given a horizontal
velocity v, as shown inifigure. If the string gets
slack at some point B-making an angle 9 from
the horizontal, the ratio of the speed v of the
bob at point P to its initial speed Vg is:

(1) (sin6)/2

1
@ (2+3 sin 6)
’ cos 6 |
®) 2+3sin6

1 sin 0 20
(, 2+3sin 0
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The output (Y)s of the given logic
implementation is‘similar to the output of

an/a gate}
-
19
‘.v;l‘.‘

(1) AND 2;’(2) NAND
(3) OR

§

B 0— 1 i
b

A0— _/ f+e
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The electric field in‘a plane electromagnetic
(53

wave is given by ___
. 3

3

E. =60cos (5x+1.5%10°0)V / m.

Then expression for the corresponding
magnetic field is (here subscripts denote the
direction of the ﬁeg]gd? :

7(3,:(§ 9
(1) B,=2x10""cos (5x+1.5x10°1)T
4 0
. k:é-j
@ B, =2x1077 s (Sx+1.5x 10°HT
|

(3) B, =60cos (55+1.5x10°NT

4) B, =60sin (5x+1.5x10°NT
m ' '
{Y
2

<= _E; e = B
c
g'o

2<10?
=20 X |5

& feclqg
= ax l,;~r Teclz

= x5 4 Cox +1SNTOT
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A ball of mass 0.5 l;é:is dropped from a height
of 40 m. The ball hltS the ground and rises
to a height of 10 m .The lmpulse imparted to
the ball during its co!hsnon with the ground is
(Take g=9.8 m/sz)m

Jy)/éle () 7NS
3) 0 (@) 84Ns
' [ Contd... Ao w
y T
Foat s m( e — V) o
O-§ @5}(4-@(‘10 — (.ngla)
= 0SS x axe.@ CJ“TB'{'JT’D ~

= OSX% [axhq%> <J':B) (3‘\“7

= oS'x:.x’[ /’X'B 44-><*1;<3 - 21X3_ _6;?- a1} B VA<
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11 ABis a part of an elecitical circuit (see figure).
vor e Y]

The potential leCI’(':}]‘s:C “V4 = Vg", at the

instant when current i= 2 A and is increasing

Yo'
at a rate of 1 amp / seé;c’)nd is:
LY g

Sooiln iy
1 ol
A oﬁ_ﬂﬂﬂ__l*r_N\/\_.
1H 5,20 =
(1) 5volt
£y
(’2) 6 volt ¥y
£ R
3) 9volt i o
4 10 volt gt
1%

: iy
Ae—1y (VUYL 'E— M3
oo

=
%
N
S

l
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12 A 2 amp current is flowing through two

different sm_allv circular copper coils having

radii ratio 1:2. The ratio of their re‘spective‘

>

magnetic moments W:,i!l: be

14 :(%) 12
"

(3) 2:1 Q} 4:1

b
urﬁ_-a
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Mand m?

In a certain camera;Z’ag combination of four
similar thin convex lenses are arranged axiallyj
in contact. Then the pg;yver of the combination
and the total magniﬁcation in comparison to
the power (p) and magmf' ication (m) for each
lens will be, respectlyéfy -

‘“‘3_'
(1) 4pand 4m i)

i

) p*anddm - 4

4) p*and m*

f= € +0 + 6 + 6
:lff
W\: W\\ W\:. w\g ML"
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4 An oxygen cylinder of volume 30 litre g
18.20 moles of oxygen. After some oxygen is
withdrawn from ‘the cylinder, its gauge
pressure drops to ‘11 atmospheric pressure g
temperature 27°C.-The mass of the oxygen
withdrawn from the cylinder is nearly equa]

I . (NI :
to : ‘ 163 :
[Given, R = 1—1022 Jmol 1K1, and
molecular mass of O, =32,

1 atm pressure = ;Ql x 105 N/m]
.
(1) 0.125kg aj; gg) 0.144 kg

. o
\)})/0.116 kg ¢3(4) 0.156 kg
Ty Z

Y

E

W = @20 molex
qn,g_ fV XDl X% 2% (B
& U 20

| >-

2

An= Mg -n¢

macs = pn ¢ molecwtay ut ")

= &Il L£ ?
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il L IR )
W @2 VG (2x41)

: S IR »
In some appropriate Units, time (#) and position
]

(%) relation of a rgp;ving particle is given by
t=x2 + x. The acceleration of the particle is

9 o
+

O " Gy @

B +
R 2x+1
§5™ A

-t oL %%
% =t R

a -
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\ﬁ
To an ac power supply of 220 V at 50 Hz, a

resistor of 20 Q » & capacitor of reactance 25€

and an inductone"'pf reactance 45 are

connected in serles The corresponding current
in the circuit and the phase angle between the
current and the voltage is, respectively -

(1) 7.8 A and 300”’*

\).2‘(78Aand45 »&

3) 15.6 A and 360
(4) 15.6 A and 450

b-20-ohm 25-BhML AS oy

asovert
Z = I(“ -+ O<l~— X&)L

= \r@o)" + (A7




)

Fhe Sun rotates around its centre once in
27 days. What will be the period of revolution
if the Sun were tojexpand to twice its present
radius without any éxternal influence? Assume
the Sun to be a sphere of uniform density.

PR L‘.\ I
(1) 100days 5 (2) 105 days
(3) 115 days o
4 ' \

)

108 days

e

Lo
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TS

A model Tor quantized motion of an electron
in a uniform magnetic field B states that the
flux passing through the orbit of the electron
is n(h/e) where n{is‘;. an integer, 4 is Planck’s
constant and e is the magnitude of electron’s
charge. According to the model, the magnetic
moment of an electron in its lowest energy
state will be (m is.the mass of the electron)

S)pe

oy

e >.t L ‘Mhe
() m . P 2mtm -

1G1if - ¥
%on‘
heB heB
3 o @)
/7 = e

»

edota - vt

2nm
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- rods on the sides haye thermal conductivity 2K

Three 1dentlca1 heat conducting rods are
connected in. serles as shown in the figure. The

while that in theé middle has thermal
conductivity K“‘: ¥The left end of the
combination is mamtamed at temperature 37
and the right end at T The rods are thermally
insulated from outside. In steady state,

temperature at the left junction is T} and that(
at the right junction is T5. The ratio T}/T, is
€}
—
2K ggs 2K

T

S50

ANANANANY

. ANNNNRNN

AN

&




20

The plates of a parallel plate capacitor are
separated by d. Two slabs of different dielectric
4

27
respectively afd Inserted in the Capacitor.‘Due
to this, the cdpdcitance becomes two times
larger than wheri there is nothing between the

I 3
constant K an,q {(2 with thickness Ed and

plates. 13) 2 3 4 L?:_?
If K, =125 K5l the value of Ky is: 724 7.,
3.6 1§ 2) 233 ] 47T, Ak ,:;c‘r
@ 160 T @) 133 2. ..L(_aﬂ_,
s+ S - \&
‘h =z T3
A
2K s l
2 ~ L
5 _I"Fq K)__
3 fe L5
=2 +—
L A /4
A 4,/6_‘_ 34 U LI
Co” op E@h Koh I WV
oL (24, A 1 %4 K

www.kumarneetphysicsclasses.com
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A 15 min, @ km/h

Two cities X apd Y are connected by a regular
bus service wnh a bus leaving in either
direction every T min. A glrl is driving scooty
with a speed of 60 km/h in the direction X to
Y notices that ‘a bus goes past her every
30 minutes in the direction of her motion, and

every 10 mmutes in the opposite direction. —p W
Choose the correct option for the period T of
the bus serv;ce and the speed (assumed

X |o—>

constant) of the’ buses.
D Em
(1) 9 min, 40 km/h < kA.(

(2) 25 min, L,O(? km/h

©) 10 min, 90, | 2= C\)‘»éo>x'_3_g

€3

Sl
it

9958461445,01141032244
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A uniform rod“f mass 20 kg and length 5 m
leans against aSinooth vertical wall making an
angle of 60° with it. The other end rests on a
rough horizontal floor. The friction force that
the floor exerts on the rod is
(take g = 10 m75s2)

S

(1) 100N €3

¢
Ts)

‘/A)o JAN
4 w

18
(3) 200N o

(4) 2003 NM

€ Tp=0 N:_:Wg.

X _f_'_ s 32 —~ N X S Sin 20°

www.kumarneetphysicsclasses.com
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23 !n an oscillating spring mass system, a spring]| *
1s connected to a box filled with sand. As the

box oscillates, sand leaks slowly out of the box

vertically so that \l & average frequency n)(l) [ - 3‘ t '

and average amplitude A(I) of the system k
change with time t.Which one of the following

options schematically depicts these changes
correctly? g

()

@
b A pb—

r\

()

A@)

;\)03'3 / i

()

F4

»

(€)) AD

o(7) &3

-

Y (X t

@ Ao
¢ f’z}
P

t 261 BASEMENT M BLOCK MAIN ROAD GREATER KAILASH 2 NEW DELI

i ) 9958461445,01141032244
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A balloon is made of a material of surfaee
tension S and its inflation outlet (from where
gas is filled in if)ﬂms small area A. It is filleq
with a gas of d?f\%ity p and takes a sphericq|
shape oFradius‘{R. When thf: gas is allowed tq
flow freely outagf it, its radius » changes from
R 10 0 (zero) in fife 7. If the;speed v(r) of gas
coming out of{htc% balloon,depends on r as

if
and T oc SO‘ABLpi RS then - .,

24

- retafe’e
g
x <m~')”‘(r_"7'3(n?)

A+ L:.F-—‘S"&‘-l-cr —r—

T i
T= CL)S
MOL P — . M =
n Bo2F+ § =0
—2X=1 =

A+ ¥ =0
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Consnder the didmeter of a spherlcal object
being measurediwith the help of a Vernier
callipers. Suppose its IO Vernier Scale
Divisions (V.S.D.) are equal to its 9 Main Scale
Divisions (M.S.D.). The’ least division. in the
M.S. is 0.1 cmﬁand the zero of V.S. is at
x=0.1cm whe%he jaws of Vernier callipers

are closed.

If the main scaIg reading for the diameter is
M=5cm and the number of coinciding
vernier lelSlOI‘l Jds 8, the measured diameter
after zero error, correctlon is

(1), 5.18 cm ifj 2) 5.08cm
\9)_/4.98 cm %‘*’; (4) 5.00 cm

ﬂcaaug,. FLSK{-'Y\ C_Lc’) - &
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36 A parallel plate capacitor made of circular,
plates is being charged such that the surface
charge density on its plates is increasing at a
constant rate vglth time. The magnetlc field
arising due to dlsplacement current is :

(1) zero at all, iplaces

) constant between the plates and zero

side the\»plates
(3)_Aon-zero ey‘erywhere with maximum at
the imaginary cylindrical surface

connecting.peripheries of the plates
(4) zero between the plates and non-zero

= kee b
ow In cécoty

s
AL

© 7 outside O




27  An unpolarized light beam travelling in air is | -
incident on a medmm of refractive index 1.73
at Brewster’s ang;le Then-

\y/leﬂectcd light is completely polarized and
the angle oiquﬂccllon is close to 60°
(2) reflected. 'llght is partially polarized and

the anglé of lﬁéﬂccnon is close to 30°

(3) both reflected and transmitted light | - /U: g LP

» are perfectly-polarized with angles of
reflection and refraction close to 60° and ' 13 = M/\ C"

300, respectively. _ Iz = Fan (,b
(4) transmitted hOht is completely polarized
with angle o{leﬁactlon close to 30° Lb - &0 ° — "{_
N
& | &

9958461445,01141032244
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Two identical charged conducting spheres
A and B have thLelr centres separated by a
certain distance. ;Charge on each sphere is q
and the force of re bulsion between them is F.
A third 1dentlca] uncharoed conducting sphere
is brought in (|:ontact with sphere A first and
then with B illfvll‘d finally removed from both.
New force of repulsion between spheres A and
B (Radii of A and -B are negligible compared
to the distance: o separation so that for
calculating force bketween them they can be
considered as pomLcharges) is best given as :

35 2F
@ = -
F 3F
® 7 3
el
9958461445,01141032244 e T
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29

A container has;two chambers of volumes
v, = 2 litres and;V2 = 3 litres separated by a
partmon made of\a thermal insulator. The
chambers contamsvnl =5 and n, = 4 moles of
ideal gas at pressures p; = 1 atm and
P = 2 atm, respect;vely When the partition is
removed, the mxxture attains an equilibrium

pressure of : -
(1) 1.3 atm Vm atm

(3) 1.4 atm ~ (4) 1.8atm

S, it

o

1)

G;V' "'«LV:. = (M& Um,{i.
' o) +208) = O €SD
|+ € ad-on_

"llcn
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\MCK n2/3;"! Vv oC nl/3

A particle of mass m is moving around thg
origin with a constant force /' pulling i
towards the origin. If Bohr model is used tg
describe its mation, the radius r of the #th orbi
and the particlé’s speed v in the orbit depend

.9
on n as -
‘[ gmg

() reenBiveen/3

Pt

(2) rocnl/3303y oc n2/3:

7 '3":%

(4) roc;14/3; VOCI’I_I/3

Faint
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|2 )The radius of Martian orbit around the Sun ij

about 4 timés~the radius of the orbit o
Mercury. The Martnan year is 687 Earth days,
Then which of’the following is the length off

1 year on Mercury ?
£1% , > a
88 earth days T o(' 1*
(2) 225 earth;days o 2/
' _(3) 172 carth days + = D
(4) 124 earth days
{371
T




A body welgh§x48 N on the surface of the
earth. The grav1tat10nal force experienced by
the body due tg;the earth at a height equal to
one-third thet{radius of the earth from its
surface is : g

_() 16N i \MN

(3) 32N s«\,; (4) 36 N

P
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A wire of resistance R is cut into 8 equal
pieces. From these pieces two equivalent
resistances arg'thade by adding four of these
together in parallel. Then these two sets are
added in series. The net effective resistance of]
the combinationtis :

L

R . ‘ R
O o5
R

M

.Vbi
&

Y

@

%o

A—— ——_
/. 4.
R P
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De-Broglie wavelength of an clectron orbiting
in the 77 =2 state of hydrogen atom is close to

(Given Bohr mdlus = 0.052 nm)
0.067 nni"’ A2) 0.67 nm

) 1.67mm ) @) 267 mm

N- R
IR

- < =
V= BT n

Me= @ x15°' *

Ko €€ x‘c,_gl" I«

—~ ApS2mm N°-

T oo —
Vo = posaxy

2T =7

-34

X = §-<€% |6 ><I2T

ax 1621 X 2x109




Vi

'O

kB,

An iglectric r<;hpole with dipole moment
5% 107° Cm isaligned with the dircction of a
clectric field of magnitude
4 x 105 N/C. Th¢ dipole is then rotated through
an angle of 609 with respect to the electric
field. The change in the potential energy of the
dipole is :

umform

(1), 0.87
@) 121

\R

M

210

@ 1517

UC:—'%ECGSO
V_“::_%E ¢ §o®
—F ¢ —I—PGC&Q
- - Ff& ., pe - £

— &x(8Sx 4x105 210 x (5

= = \IT
g =

9958461445 01141032244
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36 A constant véltage of 50 V is maintained
between the pGints A and B of the circuit

shown in the figure. The current through the A
branch CD of?fﬁ:e circuit is :
i

. '/ ¥ e . ' :
A/ S AM—
A M Y

3y N %w

'.(gvfg4-32v

- LR 2uh T
1) 154 =t \nygg e __1!

3) 254 4) 3.04 coV
2 >
*\ _F.Jt_,
e &
2,48 _THE_2%
il -tk ol

x l lf' www.kumarphysicsclasses.com
— - 2. I‘T * www.kumarneetphysicsclasses.com
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37 A photon and™an electron (mass m) have

the same €¥energy E. The ratio E- he
. Q ) . — —
(Xphoton/lelejgtron) of their de Broglie )< Photon

wavelengths i’s_ff(c is the speed of light)

W) B 10 @ cfamE- ] £

‘ =1
T o | hes B
& fzmﬁ




38  Which of the following options represent the
variation of photoelectric current with property

of light shown on the x-axis?

Photoelectric
current

<

Photoelectric
o current

Intensity of light

Photoelectric

Frequency of light

Photoelectric

Frequency of light

(1) Aonly

(2) Aand C

(3) AandD

7z

(4) Band D i
-

Thptoelectie A Intentt .

iy -
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39  Asphere of radius R is cut from a larger solid
sphere of radius 2R as shown in the figure. The
ratio of the moment of inertia of the smaller
sphere to that of the rest part of the sphere
about the Y-axis is :
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wave recuiier Cll‘CUl WIth diodes (D
and (D,) is shown in the fi fgure If input supply
voltage V;, = 220sin (10071:!) volt, then at

t =15 msec 563

v,‘q'
' ,'q

¥ -

"' Q]%
V,,,%u |
j o2 S,
=5 ;;% :
(fﬁ

\/(,H/D, is forward blased D, is reverse
biased i

H')
(2) D, is reverse biased, DZ is forward biased

%
(3) D, and D, both are forward biased
(4) D, and D, both are reverse biased
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Two gases A and B are filled at the same mme mw\-e
pressure in scparate cylinders with movable @: ‘
pistons of radius #; and rp. respectively. ' f- [ A} \f
On supplying an equal amount of heat to both
the systems reversibl under constant pressure, 2 pS
g Y e P TH* %16 =T 8" X7

the pistons of gas A and’B are displaced by

16 cm and 9 c¢m, respectively. If the change in )
their internal energy is the-same, then the ratio rﬁl ?
€4 — —
a 2% | &
A L)
is equal to hs
/B 9 () L
0
Log it
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7

- A physical quantity PLis related to four

|
observations a, b, ¢ and 4,@5 follows:

P=a3b2/cld

(EH]

(Ch]
The percentage errors of measurement in a, b,
c and d are 1%, 3%, 2%, zzin%l 4% respectively.

The percentage error in thg'quantity P is
' 15}
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The intensity of transmitted light when a
polaroid sheet. placed)between two crossed
polaroids at 22.5° from the polarization axis
of one of the polaroid,'is (o is the intensity of
polarised light after passing through the first
polaroid): Lo
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Two identical point masses P and Q, suspendec
from two separate massless sprmgs of sprmg_
constants k; and kz;”‘respectlvely, oscillatg
-vertically. If their m£ax1mum speeds are thf‘
same, the ratio (AO/AP) of the amplitude AQ
of mass O to the amplitude Ap of mass P is:
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A pipe open at both ends has a fundamental
frequency f in air. The pipe is now dipped
vertically in a water drum to half of its length.
The fundamental freqiﬁéncy of the air column

is now equal to :
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